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for (initialization; testExpression; update)

{

/I codes inside for loop’s body

}
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Line 1
Line 2
Line 3
Line 4
Line5
Line 6
Line 7
Line 8
Line 9
Line 10
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// Program to print a sentence 10 times
class Loop {
public static void main(String[] args) {

for (inti=1;i<=10; ++i){
System.out.println(“Line ” + i);
}

}

}
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1. // Program to find the sum of natural numbers from 1 to 1000.
2. class Number {

3. public static void main(String[] args) {
4.

5. intsum=0;

6.

7. for (inti=1;i<=1000; ++i) {

8. sum+=i;//sum=sum+i

9. 1}

10.

11. System.out.println(“Sum = + sum);
12. }

13. }
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\stiteration: sum=0+1=1
Ynd iteration: sum=1+2 =3
Yrd iteration: sum=3+3=6

Yth iteration: sum = 6+4 =10

444th iteration: sum = 498501 + 999 = 499500
\+« «thiteration: sum = 499500 + 1000 = 500500
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1. /I Infinite for Loop

2. class Infinite {

3. public static void main(String[] args) {
4,

5. intsum=0;

6. for(inti=1;i<=10;-i){

7. System.out.println(“Hello”);

8. }

9. }

10. }
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1. for(;;){
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class ForLoop {
public static void main(String[] args) {

char|[] vowels = {‘a’, e’, ‘i’, ‘0’, ‘u’};
for (inti = 0; i < vowels.length; ++ i) {
System.out.printin(vowels[i]);

}
}

CoNoOrwWNE

Lo 52 o fOM-ACH wilo Sl oslizal L1, YU 48" Wil 55 s

class AssignmentOperator {

public static void main(String[] args) {
char|[] vowels = {‘a’, ¢
/ foreach loop

for (char item: vowels) {
System.out.printin(item);
}

}
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for(data_type item : collection) {
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class EnhancedForLoop {
public static void main(String[] args) {
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Sum =19
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11.

int[] numbers = {3, 4, 5, -5, 0, 12};
int sum = 0;

for (int number: numbers) {
sum += number;

}

System.out.println(“Sum = ” + sum);

12. }

13.

}
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Iteration Value of number Value of sum

1 3 3
2 4 7
3 5 12
- <5 7
5 0 7
6 12 19
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